
姓名: 　　　　　　　 日期: 　　　　　　 分數: 　　　

負數指數加減乘除

4 + 6 =(−2) (−5) − (−4) =(−2)

(−4) + (−4) =(−1) 3 + (−5) =2

(−3) − (−9) =2 (−9) − (−8) =(−1)

6 + 7 =(−2) 4 + 4 =(−2)

(−6) + (−4) =2 1 + (−3) =(−2)

(−9) − (−3) =2 4 + (−9) =(−2)

3 + (−6) =(−1) (−2) − (−4) =(−1)

(−10) + (−10) =2 (−4) + (−3) =

4 + (−9) =(−2) 6 − 4 =2

6 + 3 =(−1) (−9) + (−9) =2
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姓名: 　　　　　　　 日期: 　　　　　　 分數: 　　　

負數指數加減乘除

4 + 6 = = 6(−2)

16
97

16
1

(−5) − (−4) = = 4(−2)

25
101

25
1

(−4) + (−4) = (− ) = (−4 )(−1)

4
17

4
1

3 + (−5) = 42

(−3) − (−9) = 182 (−9) − (−8) = = 7(−1)

9
71

9
8

6 + 7 = = 7(−2)

36
253

36
1

4 + 4 = = 4(−2)

16
65

16
1

(−6) + (−4) = 322 1 + (−3) = (−2)(−2)

(−9) − (−3) = 842 4 + (−9) = (− ) = (−8 )(−2)

16
143

16
15

3 + (−6) = (− ) = (−5 )(−1)

3
17

3
2

(−2) − (−4) = = 3(−1)

2
7

2
1

(−10) + (−10) = 902 (−4) + (−3) = (−7)

4 + (−9) = (− ) = (−8 )(−2)

16
143

16
15

6 − 4 = 322

6 + 3 = = 3(−1)

6
19

6
1

(−9) + (−9) = 722
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